Faber Castell 64/39 (15,5 cm)

B =819 | g =98t [1cbdemwiegt|y |2 w §| 1 cbdem wiegt | ¥ | 1 ebdem wiegt | ¥ Ilumﬂm ‘
X Ly
= =081 "l; =040194 | Schmiedeisen |7.8 |8 =& % |Eichenholz 0,7 | Saud, nass 19 137 ,,g !
&' = 0.8698 » —og.9881 | Gusseizen 72{ 0 & Kiefernholz 0568] . trocken L0 PPN ¢
. — o700 | /g =3.1320 | Stabl 15KE 53 I | Erlenbols 055] Cement 5, .+, [29 a2 [n 58
T =177245 | |/ 8g = k4oes | Bronze 8117 = §% | Mauerw. v. Ziegel [ 1,6 e S e Eg
v 1 Engl. Zoll = 2.4 mm | Messingguss  |B.5 gﬂ% ~ 1, v.Hohlziegel [1,0 }“”"" ‘g::::ﬁ‘;:" o ‘g kgley
I.PI..S‘.M:iﬁ-See.Mm .%Wm. Kupter gez, 8.9 o= vBruchamn 24 |y = Hragabahla = 700 Esl,u
1 Sec. mkg =‘g,51 Watt Aluminivm 27|® w4 |Erdbodenv.1,4bis2,4 |1 , Cement = 1200 ,. -

A iillpllt AL R g T I|lIllIH[HII]HH]IIIl!lIII|iIII|IIlI|i|l|[ﬂ||]i|ll|lll|i|l|I][III|II|I|
Loiie: IR VR e 12,

5 7 8 67 P8
ffnul ] !|I|#|EII}E|E4||)I|i|l}||ﬂll|IIIIITII ‘
4 5|6 9 1 50 7891
9 E o S 6 2 1
i
9 5 6 7 9 1

IS ! | ! !lll!llllll!'l:lltllilllllww i
ﬁllll?\n]llﬂ |I|||I|\|I|i|hhlt|el|\|hhl|h mm i1l LlJJlLUlIlULMHJJIJI?[Luﬂlufh_mluﬂnﬂuj_wim‘iﬁuuL_i\Ill ec

el wlm“|1||III|EI\I|HHUIH|IH|HII|HHU
WA MO

8as39 % Aw.FABER EH "CASTELLY [BR

www.rechenschiebersammlung.ch



